14

Bg/cm

28x=<101

2. x<10+1

ND

2.0uSv/h




24 14
Bg/cm Bg/cm
(uSv/h) -131 Cs-134 | Cs-137 (Sv/h) -131 Cs-134 | Cs-137
(o] (o]
N 2.0 ND |1.9x100] 26%10 10 o |70x101| 1.0x100
15 ND |88x=10-1]| 1.3x100 o4
12 ND |2.4=10°]| 35%100°
12 16 ND |49x101|69%101 10 ND__[7.5>102] 10100
20 ND [12x10 [15x=10
5o o 122100 1o=100 25 20 ND |1 =10 | 2.3x100
13 25 ND |22x101|28x101 40 ND ND__110>10-
16 55 ND |23=100|32x100 30 ND__155>10" ]89>10°
10 ND [5.4x=101|80x101 18 ND _ ]16>10" |27>10°
12 ND [81x<10- | 1.1x<100
17 26
3.0 ND 1.3%10° | 1.7=<100° — — — —
T3 o |20m107la4m10" 18 ND |14x=10 |1.8x100
o o |2o=10.| 1om=101 30 95 ND |21x<100[ 3.0%100
18 - - - o 0
45 ND |48x=101|71x<101 31 13 ND 22>10°130>10
45 ND |7.1%10%|9.1x103
19
21 ND |38%102| 4.8%102
50 ND |7.3=10-1|9.4x10-1
20 4.0 ND |3.1x10!|4.1=10?
31 13 ND |45%10°| 6.3%100°




Bg/cm

(uSv/h) -131 Cs-134 | Cs-137
50 ND 1.0%<101|1.6%<101
4.0 ND 1.1>=<101|14=<101

2/6
1.0 ND 1.2>%10°1|1.9%101
8.0 ND 1.4>=<10-1|2.0x101
277 8.0 ND 8.2%102[1.1><101
10 ND 7.3%<102|1.3%101
8.0 ND 2.0=<101|29%<101
.0 ND 1.0%<101|8.3%102
.0 ND 1.7>=<101|25%101

2/

.0 ND 8.0><102|1.3x<101
4.0 ND 2.0=<101|28>x<101
.0 ND 2.8%101[43><101
4.0 ND ND 7.2%102
1.0 ND 46><101|6.7><101

2/9
2.0 ND 21>%101|34><101
2.0 ND 1.4>=<10"1|1.5%101
No.6 1.6 ND 25%<101|3.7><101
2/10 1.6 ND 1.1>=<101|2.0%x101
1.6 ND ND 1.2x101
1.2 ND 1.4>=<101|2.0%x101
6.0 ND 2.2>100 | 3.3>x<10°

2/13

24

14



